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Algebra Il - Chapter 5 Practice Test
Part I - Multiple Choice

(x-—S)(X~5>

B 1. Find the zero(s) of the function A(x) = x* — 8x + 15 by factoring.

&, —o3 5,3 ¢, =5, d 5-3
& 2. Solve the equation 4x* = 64. x2'= I(o X= i'l-j
o _jg,ifj @4,_4 c. 4 d. — /16, /64

E'Z 3. Write the function f(x) = x> + 6x + 5 in vertex form, and identify its vertex.

2
K+ox=-6 (L) £ 0024

8. fO) =43y +14 5 (b.)(x) = (x 43— 4 3 -
vertex: (—3,—4) X ‘\"(.0)("'0]: 714 (%)Zer{ex: (—3,—4) ( ? { “4 )

(x+2)*=4
/ F)=(x+6)?*+2 = 9 a ,44().—)=(x+6)3—4

vertex: (6, —4) _ vertex: (6, —4)
= a—

PY 4. What is the complex conjugate of — 5+ 6i?

@—5—6f b. 5+6i c. —5+6i d. V61

= ls

__& 5. Simplify #° (L 7-’) = (_ “l) \3
© @ﬂ 1 .k ey

_ﬁ 6. Find the absolute value of |5 —2i]. I(a)z_*_(_?bz o W " \Fﬂ?

a. +/—=10 @\/ﬁ c. 3 d. 21

d

8 7. Simplify: (3 —2i) + (2 + i)

a. 1+3i @s—f c. 4i g =g

(s simplify: (1-20(1+5) | +50-L=10C = | +3L +10

a. 1+3i b. 1—3i @]l+3f d. —9+3i



. L ' . ' . . IR = )
g 9. Simplify: _31:?’ .3 ‘- .- 340+ ol =t & :—3—1'1(__1;3' = _'__.’_1.-
3-

t Q-1 1

e B s
@ 0t 10! b. =

l2 10. Simplify: (5 — 6i) — (— 3 +4i) Lé‘l' 5) + ("[oll"‘-“-‘)
B2 b8 10i 242 (s - 10

i o — il d.-%+

ral—

@ 11. Find the number and type of solutions for —4x2 + 10x—=3=0 G = L!; UZ' Ha ¢
EH = - '0)7--1—’-{.—4)("3)
a. 1 real solution b. No solutions c. 2 real solutions, complex solutions

oo -4®
Algebra II - Chapter 5 Test
Part Il - Short Answer

12. Fill in the table and graph the function g(x) = (x — oe i,

o

N |-FlW|Y|— |0
A ERIESOYNY

(5-2) +4

13. Determine whether there is a minimum or maximum value of f(x) = 2x* + 16x — 6. Then identify the value.
= -k -lo W
= Vg
29 -4 /]\\ g
S ; \
’2_(»4.) 2 +)l (-—4) -b Minimum or maximum? _YYUWNIMNMUWYL  Value: "3@) /
2 1) = b4~ S

) - R S : ) N 9,2 - ; ==
14. Determine the following information about the function f(x) = 2x* +4x — 16 )( 212) 7

22-lH-0
Openr Down Axis of symmetry: )( = ‘

Vertex: (_‘I! i I %’) Y-Intercept: | OF -l )

2(-N&Ey(-)-1b
2(H-Y-vw

2.-U-lla




15. Graph the complex number — 3 + 1.

Imaginary
'lf

<+ - - —+ Real
LA - il A 2 a

X= At JEaE-uw)

2010
X=atJdel-1>
= 2z

¥z 0[ z \ﬁo—é

Zero(s)

17. Describe the transformations of the following, from the parent function f(x) = x?

a. glx)= =1 b. Alx) =(x + 5)2 c. jix)= %(.\: = 2)2
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